
 PQC-COVER  
 

Enclosure Assembly for PQC250 Series 

 
 

PQC-COVER.B01 Page 1 of 2 
 

www.murata-ps.com/support 

 
 

 

 

   

PRODUCT OVERVIEW 
The PQC-COVER1 is intended as an enclosure for the PQC250 series of open frame products and can be used with the models 
shown in the Model Usage Table. It is intended for system deployments in a semi open environment and not mounted in a 
totally enclosed system case (where the product is inaccessible to End Users). It is manufactured from high quality steel and 
provided with an anti-corrosion coating. The construction also provides an optimized airflow pattern to accommodate both 
forced and convection cooling deployments; refer to relevant product datasheet for additional details.  
The PQC-COVER kit is sold separately and it is intended that the End User assembles the cover and open frame product 
directly. 
1Also suitable for use with the MVAC250/400 Series of products (replacement for MVAC-COVER). 

NB: Image shows use with Molex output connector; however the 
cover is suitable for use with screwed terminals i.e.  
PQC250-xxDRT/CRT & MVAC250/400-xxAFT/AFD options 

ORDERING GUIDE 
Model Number Description 

PQC-COVER Enclosure kit for PQC250; MVAC250/400 series 

 
MODEL USAGE TABLE 

PQC250 Models 
https://power.murata.com/en/catalogsearch/result/?q=PQC250 

MVAC250 Models MVAC400 Models 
https://power.murata.com/en/catalogsearch/result/?q=MVAC 

PQC250-12yyy PQC250-30yyy MVAC250-xxF MVAC400-xxAF 
PQC250-18yyy PQC250-36yyy MVAC250-xxAF MVAC400-xxAFD 
PQC250-24yyy PQC250-48yyy MVAC250-xxAFD MVAC400-xxAFT 
PQC250-28yyy PQC250-54yyy MVAC250-xxAFT MVAC400-xxAFR 

 

 
 

FEATURES: 
 Allows installation in equipment that does not 

afford protection 
 Safety Approval’s not impacted 
 No derating required 
 Allow operation in convection and forced 

cooled applications 
 Multiple mounting orientations 
 Galvanized steel corrosion resistant plating 
 RoHS Complaint 

MATERIALS PARTS LIST 
(See View Opposite) 
  Enclosure Base Item  
  Enclosure Cover 
  Insulator Sheet 
  PCB Retaining Screws  

(M3 X 0.5 x 6MM pan head TORX-10 
Drive crest cup SEMS) 

  Cover retain Screws  
(Stainless steel flat 90° TORX-10 Drive 
M3 X 0.5 x 6MM) 

 INSTALLATION INSTRUCTIONS 
1. Install the insulator (item) in to the chassis base (item) taking care to align the “cutout” with the “grounding symbol” 

(clearly stamped in the chassis) and PEM standoff’s and ensuring that the insulator lies flat against the chassis base 
when properly installed. 

2. Lower the PQC250 series power supply into place with the orientation as shown in the above diagram. 
3. The mounting holes (slotted holes) should align with the 4 PEM standoffs provided in the chassis base. 
4. Install the M3 x 6 pan head screws (item) 
5. Align the cover with the chassis base (item). 
6. Secure cover (item) to the chassis base with the 4 M3 x 6 countersink screws (item). 
7. Inspect the completed assembly for misalignment (cover, chassis base, insulator or PCB). 

  



 PQC-COVER  
 

Enclosure Assembly for PQC250 Series 

 
 

PQC-COVER.B01 Page 2 of 2 
 

www.murata-ps.com/support 

MECHNICAL OVERALL DIMENSIONS 

 
Notes 
All Dimensions are in mm 
File P/N 610-020-1988-1  

SAFETY CONSIDERATIONS 
1. Refer to the relevant product datasheet for the product to be deployed with the PQC-COVER assembly. 
2. A protective bonding conductor from the end product protective earthing terminal must be tied to TB1 (Quick connect tab, located as marked on the power supply PCB near input 

area). 
3. This enclosure can only be used with a Class I deployment and is not suitable for Class II deployment. 
4. Ensure that the insulator is correctly aligned and fits correctly and is flush with the chassis base and that the ground symbol is not blocked. 
5. The chassis standoffs are dimensioned to provide the correct clearance in conjunction with the insulator. 
6. Do not operate the power supply with the cover removed. The primary heatsink is considered a live primary circuit, and must not be touched.  
7. It is the responsibility of the end user to ensure that in all cases, the applicable safety standards are applied to provide the proper creepage and clearance requirements, and to 

comply with all safety certification requirements of the installed PQC product 
8. Used only in non-tropical conditions  
9. There are a total of ten (10) M3 inserts for mounting the enclosure box: 

QTY six (6) M3 x 0.5 x L# installed in bottom of chassis   
QTY four (4) M3 x 0.5 x L## installed in the side walls of the chassis   

10. This product is subject to the following operating requirements and the Life and Safety Critical Application Sales Policy: Refer to: 
http://www.murata-ps.com/requirements/ 

11. Chassis &  Cover material description: 
• 0.8mm thick Hot Dipped galvanized Steel 
• Grade G60, min. spangle 
• Finished with a CR(6+) free corrosion resistant coating. 

#  Select screw length such that the maximum screw penetration is 1.5mm 
## Select screw length such that the maximum screw penetration is 3mm 

 

 

©2018 Murata Power Solutions, Inc. 



X-ON Electronics
 
Largest Supplier of Electrical and Electronic Components
 
Click to view similar products for Switching Power Supplies category:
 
Click to view products by  Murata manufacturer:  
 
Other Similar products are found below :  

70841011  73-551-0005  73-551-0048  PS3E-B12F  PS3E-E12F  AAD600S-4-OP  R22095  KD0204  9021  LDIN100150  LPM000-BBAR-01 

LPX17S-C  EVS57-10R6/R  FP80  FRV7000G  22929  PS3E-F12F  CQM1IA121  40370121900  VI-PU22-EXX  40370121910  LDIN5075 

LPM615-CHAS  LPX140-C  09-160CFG  70841025  VPX3000-CBL-DC  LPM000-BBAR-05  LPM000-BBAR-08  LPM124-OUTA1-48 

LPM000-BBAR-07  LPM109-OUTA1-10  LPM616-CHAS  08-30466-1055G  08-30466-2175G  08-30466-2125G  DMB-EWG  TVQF-1219-

18S  6504-226-2101  CQM1IPS01  SP-300-5  CQM1-IPS02  VI-MUL-ES  22829  08-30466-0065G  VI-RU031-EWWX  08-30466-0028G  VI-

LUL-EU  EP3000AC48INZ  VP-C2104853  

https://www.x-on.com.au/category/power/power-supplies/switching-power-supplies
https://www.x-on.com.au/manufacturer/murata
https://www.x-on.com.au/mpn/sola/70841011
https://www.x-on.com.au/mpn/artesynembeddedtechnologies/735510005
https://www.x-on.com.au/mpn/artesynembeddedtechnologies/735510048
https://www.x-on.com.au/mpn/idec/ps3eb12f
https://www.x-on.com.au/mpn/idec/ps3ee12f
https://www.x-on.com.au/mpn/tamura/aad600s4op
https://www.x-on.com.au/mpn/tdk-lambda/r22095
https://www.x-on.com.au/mpn/c-k/kd0204
https://www.x-on.com.au/mpn/abbatron/9021
https://www.x-on.com.au/mpn/tdk-lambda/ldin100150
https://www.x-on.com.au/mpn/belfuse/lpm000bbar01
https://www.x-on.com.au/mpn/artesynembeddedtechnologies/lpx17sc
https://www.x-on.com.au/mpn/tdk-lambda/evs5710r6r
https://www.x-on.com.au/mpn/belfuse/fp80
https://www.x-on.com.au/mpn/belfuse/frv7000g
https://www.x-on.com.au/mpn/c-k/22929
https://www.x-on.com.au/mpn/idec/ps3ef12f
https://www.x-on.com.au/mpn/omron/cqm1ia121
https://www.x-on.com.au/mpn/artesynembeddedtechnologies/40370121900
https://www.x-on.com.au/mpn/vicor/vipu22exx
https://www.x-on.com.au/mpn/artesynembeddedtechnologies/40370121910
https://www.x-on.com.au/mpn/tdk-lambda/ldin5075
https://www.x-on.com.au/mpn/belfuse/lpm615chas
https://www.x-on.com.au/mpn/artesynembeddedtechnologies/lpx140c
https://www.x-on.com.au/mpn/slpower/09160cfg
https://www.x-on.com.au/mpn/sola/70841025
https://www.x-on.com.au/mpn/artesynembeddedtechnologies/vpx3000cbldc
https://www.x-on.com.au/mpn/belfuse/lpm000bbar05
https://www.x-on.com.au/mpn/belfuse/lpm000bbar08
https://www.x-on.com.au/mpn/belfuse/lpm124outa148
https://www.x-on.com.au/mpn/belfuse/lpm000bbar07
https://www.x-on.com.au/mpn/belfuse/lpm109outa110
https://www.x-on.com.au/mpn/belfuse/lpm616chas
https://www.x-on.com.au/mpn/slpower/08304661055g
https://www.x-on.com.au/mpn/slpower/08304662175g
https://www.x-on.com.au/mpn/slpower/08304662125g
https://www.x-on.com.au/mpn/belfuse/dmbewg
https://www.x-on.com.au/mpn/amphenol/tvqf121918s
https://www.x-on.com.au/mpn/amphenol/tvqf121918s
https://www.x-on.com.au/mpn/teconnectivity/65042262101
https://www.x-on.com.au/mpn/omron/cqm1ips01
https://www.x-on.com.au/mpn/meanwell/sp3005
https://www.x-on.com.au/mpn/omron/cqm1ips02
https://www.x-on.com.au/mpn/vicor/vimules
https://www.x-on.com.au/mpn/vicor/22829
https://www.x-on.com.au/mpn/slpower/08304660065g
https://www.x-on.com.au/mpn/vicor/viru031ewwx
https://www.x-on.com.au/mpn/slpower/08304660028g
https://www.x-on.com.au/mpn/vicor/viluleu
https://www.x-on.com.au/mpn/vicor/viluleu
https://www.x-on.com.au/mpn/abb/ep3000ac48inz
https://www.x-on.com.au/mpn/vicor/vpc2104853

